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o 1 AHZ0 - 1 AHEZ0
gz MXENE SEEEE (FD) [ ivd MXENE SEEEE (F)
Ry 1 |ERE RORA 43,603 1 [hiee PEEN 9,477
£E¥H 27,7538 2 |hBE LZEABE 43,292 2 [hieR [E~==2N] 9,595
RA/ &I\ 465 3 [KBRAT KIRHREFSX 41,026 3 [bméE SN 10,628
ZENRE 0.21 4 [KIRFS R A X 40,855 4 |EHE RN 10,791
5 [KIRAS S8 40,651 5 [hiER bR 11,956
6 |[KIRMS IRMEX 40,638 6 [BHRER A 12,433
YA TN iigeal:iif 40,289 7[R KB 12,506
8 [bimé& =153:1) 40,115 8 |BHRE KREE] 13,383
9 [BEER JEAMHBERX 40,114 9 [RFRH FER 13,449
10 |hEE IRET 40,051 10 [BRSE Sk 13,763

) THRZESTDHXEN R TOIRM THD,
ER27EE 20155 MRID IEREOMSEDH] ICRTDHHNE (THRREZFTZ) DEEESEHMICLEER TSR0, MTEC,



(BIE)

BERS 1 —23 MXENBI1 ASEDREERE

RUESES]d MXENE | EHES
125 WME 167 8.8%
115 E 125 Xi§ 241 12.7%
105 ME 115 X§ 350 18.5%
095 E 105 X7 451 23.8%
085 WML 095 X 492 25.9%
0.85 KiB 195 10.3%
=1 1896 100.0%
1 ABZOEREEEBEDSV \THXET 1 ABL D EEEEEDOEL\HXETA
it Bt
o 1ABZD - 1TAHEZD
IEfT MXENE B e D) [[Efivd MXENE SEEEE (F)
gt 1 [SR8 REMH] 931,830 1 [ERE INEE AT 224,645
2E W19 543,931 2 [BRR BI8AY 921,224 2 [RR#B  HESH 279,309
RA/ RN 418 3 [bmé& WEH 907,190 3 |IRBR I A 310,169
ZENREL 0.15 4 [tsE T 890,456 4 [RREB S 81t 316,262
5 [SX8 Bl A1k 873,927 5 [hige LR 329,493
6 [BRR 23521187 846,497 6 [BER iR 332,012
7 [HEmE =% 815,570 7 [PiER TTE8] 345,060
8 |SXE =R 815,522 8 |EHE [=Len) 356,907
9 [REARR KIRTH 800,269 9 [{HbBE RUEBET 362,342
10 [biEs YT e 799,769 10 [pigs ES=IE] 366,540
Ab% AB%
o 1TAZEZ0 - 1TAZERZ0
IEfT MXENE SEEEE (F) [[Efivd MXENE SEEEE (F)
N 1 [SR8 AEH 626,988 1 [BER TERRUSR AT 98,622
FTE 2455270 2 (SR8 12518 550,843 2 [RR#EP N AT 106,557
BA/ R/ 6.43 3 [bBE MNEH 543,670 3 [RR#ED S 88 110,551
ZTENREL 0.25 4 [tEE =t 525,636 4 [RREB fEi SR 120,408
5 [BB& YT EET 508,520 5 |IRBE JIEAE 145,630
6 [iB& R 481,088 6 [RRED AER 149,123
7 |EBR ESH 480,504 7 FER L™ 152,381
8 [bmé& [Eaii]] 477,473 8 [NEES Rt 154,367
9 [iBE& BEhlth 476,446 9 BB KRE] 154,891
10 JbisE b)) 1187 476,412 10 IWES IBRAY 154,994
ABoE NGRS
o 1AZEZ0 N 1 AHZ0
Iigfz HXENE SEEEE (F) Ilgfz MXENE SEEEE (F)
ABzAN 1 S8 HEN 418,285 1 [ERE NS B 101,960
£ET19 270,652 2 [bs@E MWBIFT 390,147 2 [hiER [E~==7N] 121,097
BRA/RIN 415 3 SRR AR 372,334 3 [hige JEERSERAT 125,025
ZENREL 0.12 4 |[WRE 2118 370,985 4 [DigR ZR[EN 125,365
5 @& B 370,578 5 [PiER BAASRA 130,196
6 [SXR Bl A1k 370,571 6 [higR TIEE] 130,789
7 [BEBR FEKEAN 369,517 7 ERER +8N 134,837
8 [SRR EHEFET 362,307 8 [ERRED fEiE St 136,240
9 K88 KiE = S8] 361,226 9 [hiER PIEER 139,378
10 [FEARE KIRH 360,004 10 [piES SARE BT 140,908
g E3pS ]
o 1 AZEz0 N 1 AHEZ0
IIEfz MXENE SEEEE (F) gz MXENE SEERE (F)
ER 1 [SRE IR 43,603 1 [hiER EEEN 9,214
£EEH 27,7538 2 L8R LEABE] 43,292 2 [PieR PIEER 9,477
RA/ RN 4718 3 [KBRAF KIRHREFSX 41,026 3 [hiER [E~==yN] 9,595
ZENRE 0.21 4 [KIRAFS KNI AEEX 40,855 4 [bsE SR 10,628
5 [KBRAS 24 40,651 5 |[BHE RREEN 10,791
6 |[KIRMS IRHERX 40,638 6 [PiER Bl N=IN) 11,956
AN iigeal:ii] 40,289 7 |EHR PEHAR 12,433
8 [bmé& SRl 40,115 8 [hige 2K S 12,506
9 [BRR IENMHERX 40,114 9 [BHER KFSE] 13,383
10 K88 IRET 40,051 10 [RRE  FEN 13,449

) THRZESTDHXEN R TOIRM THD,
ER27EE 20155 MRID IEREOMSEDH] ICRTDHHNE (THRREZFTZ) DEEESEHMICLEER TSR0, MTEC,



(f&1ERT)

BMFRS 1 —24 THXETARHBIEZETSE

i EIEE MXENE | EHES
125 WME 36 1.9%
115 E 125 Xi§ 176 9.3%
105 ME 115 X§ 323 17.0%
095 WMLk 105 X 512 27.0%
085 Ik 095 XS 632 33.3%
085 Kig 217 11.4%
&5t 1896 100.0%
HIEER OB\ X EN M EIEEIDEL \ T XBIAT
5t 5t
gz MXENE OIS g MXENS i ETEEL
gt 1 [deEE  WEBH 1.469 1 |RBE FEART 0.640
2 [bmE e 1.391 2 |EBR KEERT 0.648
BA/RIN 238 3 [umE e 1.384 3 [FBR =43t 0.657
ZENRE 0.12 4 [BRE ¥R 1.356 4 LR N0 0.662
5 [SXN8 =6 1.354 5 [RRH INERAT 0.665
6 |[SRE BN 1.352 6 |LFRE INER 0.679
7 SR8  LiEm 1.342 7 BFE NP 0.683
8 |RFE RIEH 1.333 8 |RIBR ANESL) 0.693
9 [BXE I 1.325 9 [hiER L RERA 0.698
10 [EEE  18%h 1.322 10 [RREB HESH 0.702
AbR ABR
BT MXENE OIS BT MXENE i ETEE
NG 1 [JeeE e 1.909 1 (RS INEFRT 0.574
2 [bBmE WEE 1.877 2 |IRBE FEART 0.588
BRA/ RN 338 3 S8 KEH 1.828 3 |WER KA 0.590
ZENREL 0.21 4 [ObmE e 1.754 4 FRE =43t 0.606
5 [Bg& &P 1.697 5 |[RHR &N 0.623
6 [SXNE Ik 1.694 6 [BRS JIARAHE] 0.625
7 SRR =N 1.628 1 [BFR TLRE] 0.636
8 |EBE 1=%m 1.627 8 [BHRE I NPE] 0.641
9 BRSR =8 1.623 9 [T S 0.646
10 dbsE &Rl 1.623 10 |EFE8 bt 0.650
AR ABAh
Iigfz HXENE g EEE Ilgfz MXENE g e
NG 1 [EBE  FWsIN 1.322 1 [hiee ZREN 0519
2 [bmE &ea 1.301 2 |RRSR + S5 0.541
RA/ &/ 2505 3 (SRR =¥ 1.279 3[R PR 0.570
ZENREL 0.11 4 |SHE BN 1.272 4 |88 FAASRAT 0.585
5 [BBR TEN 127 5 [RRE INEIRA 0.586
6 |[Kh8R LEmPX 1.262 6 |RIESE =88 0.596
7 |E8R LSmmX 1.255 7 |IEHER REERT 0.610
8 |[RBR =[a 1.252 8 [hige ERERT 0.616
9 [BRBR iB%EH 1.241 9 [hige LR 0.626
10 |S5E  BHHH 1.232 10 [higs TER] 0.636
g EapS]
gz MXENE o= E% Iz MXENE =S
R 1 [KiRE  ARMBEEX 1.529 1 [hiee PEEN 0.370
2 [KBRfE AIRHREFSX 1.527 2 [hige PRI 0.372
BA/RIN41E 3 [KBRAE  APRHILX 1518 3 |BHE [RE R 0.377
ZENRE 0.21 4 [KIRFE  KERE4HESHX 1510 4 [tsE G 0.405
5 [KIRE KiRhE&X 1.482 5 |[SHE EFEAT 0.444
6 [KIRfF  ABRMHERAX 1.476 6 [PiER b RE=A 0.460
7 |SRE KRN 1.451 7 |FRE bW 0.485
8 [KIRfE ARHREFX 1.449 8 FNBR ESH 0.489
9 |KBE ZEXHET 1.446 9 [higl K SH 0.492
10 KBRS RHERX 1.440 10 [288 BRI AT 0.495




(BIE)

HMKRS 1 —24

X BRI iS5 8

i EIEE MXENE | EHES
125 BlE 36 1.9%
115 WME 125 K& 176 9.3%
105 WME 115 XK@ 323 17.0%
095 WMk 105 XK 512 27.0%
085 WME 095 X 632 33.3%
085 Kig 217 11.4%
&5t 1896 100.0%
Mg EER OB X BN I EE B DS \ T X BT AT
5t 5t
gz MXENE o= IE% Iz MXENE =R
5t 1 g W86 1.469 1 [BER [= ) 0.553
2 [bmE Eee 1.391 2 |EBER FEAAY 0.640
BRA/RIN 2718 3 [bmE IrEE 1.384 3 |IEHBR REERT 0.648
ZENRE 0.12 4 [BRE FT¥RE 1.356 4 FNRE b=l 0.657
5 [ =6 1.354 5 |LER N0 0.662
6 [SXE BB 1.352 6 [EZ:E N =R 0.665
7 |[SNE Lt 1.342 7 |LERE INER 0.679
8 [RIBR RIB® 1.333 8 [EFR NI 0.683
9 |SRE A 1.325 9 |IRIBER INEIS) 0.693
10 K88 1=8h 1.322 10 [pige LA 0.698
Az AB%
Iigfz HXENE g EEE Ilgfz MXENE ol e
ABE 1 eEE e 1.909 1 [BRE8 TERRIRAY 0.346
2 [rmE WEBE 1.877 2 |LEe NSRS 0.574
BA/ R/ 555 3 (SRR K86 1.828 3 |IREBR FEARR 0.588
ZENRE 0.21 4 [bmé& & 1.754 4 LR N0 0.590
5 [tEe &ErPH 1.697 5 [FhaR b=l 0.606
6 [BXNE Ik 1.694 6 |RBE FEN 0.623
7 [BRE =Er 1.628 7 [BRE JIARAS BT 0.625
8 [ERE 18%m 1.627 8 [BFE LRE] 0.636
9 [ERSE =8/ 1.623 9 [BHRE AVEL:) 0.641
10 s BRlh 1.623 10 |RR#E AEF 0.646
ABo4 ABAA
IEfT MXENE g EEE [[Efivd MXENE OISR
NG 1 B8  WsIE 1.322 1 [hieR PREN 0.479
2 [emE BRN 1.301 2 [hiaR EZ=IEI) 0.519
RA/ &/ 2.8(5 3 SRR  F=¥RE 1.279 3 |[RRSR +SF 0.541
ZEIRE 0.1 4 SRR BN 1.272 4 [PiER PEEN 0.570
5 (B8 FE 1271 5 [hige FAASRAT 0.585
6 |LhBE ©LEmPX 1.262 6 [BmED N BT 0.586
7 K88 LahEX 1.255 7 ERSR8 =S 0.596
8 (BB =@ 1.252 8 |EHE REERT 0.610
9 |[BEER BEH 1.241 9 [hiER ERET 0.616
10 [SXE  BEHH 1.232 10 [PfES Bl N 0.626
Ry jEap]
IEfT MXENE g E=EE BT MXENE OISR
R 1 KR KRBRMEEX 1.529 1 [hiER EEEN 0.323
2 [KBRFE  KIRMREFSX 1.527 2 [higR PR 0.370
RA/ RN 4TS 3 [KirfE  ARMIEX 1.518 3 [PieR E~=2=1n) 0.372
ZENRER 0.21 4 |[KIRFG  KERABAHEEHFX 1510 4 [EHRE [REER 0.377
5 [KIRE  ARHESX 1.482 5 [HbiBE& GREAT 0.405
6 [KIRIE  ABRMHER/AX 1.476 6 [BHRE fEEFAT 0.444
7 |BRE ROKA 1.451 7 [piER LR 0.460
8 [KBrfE  KIRHREFX 1.449 8 [ERE bW 0.485
9 |CBR L=AEH 1.446 9 [FHRR REBN 0.489
10 KBRS IRHERX 1.440 10 [higs K SH 0.492




